ELXHR—LY—ERpresents Fk2 O EFELETRERTILIERFIEEFESETAE (RERA)
[ZF - EADEH] Bt 2255 FAXEL NEEAN N =2 T7 20184£3 1129 H
6,120y Par72 KRB EAE FHING
W mEa mee BE& & H cwRws com IO mEA MR BRE 4 @ - 98w 0T N
1 R 25 meR FEE @ 145 = 72 73 (35 38 )51 U Y mer HESEE @ 167 = 83 84 (41 43 )
2 BIFF HIcH =ER B © 146 = 70 76 ( 37 39 )|52 ik EIH smwm ZEFE— O 170 = 85 85 ( 42 43 )
3 xRy B omuwR (Ui © 147 = 73 74 (37 37 )53 KB @ s JEJIBHE O 176 = 86 90 ( 45 45 )
4 B o mmR RARE © 148 = 77 71 (34 37 ) *v— RF
PR OBk wmER WIEE T @ 148 = 74 T4 (38 36)
6 KRALE = kporF KB © 149 = 76 73 ( 34 39 )
T = K mRE-ony O 149 = 75 T4 (37 37 )
KB R B R O 149 = 75 74 ( 37 37)
9 ER =% s REEFE @ 150 = 77 73 ( 36 37 )
O AFIZE EmR JEX @ 150 = 76 T4 (37 37)
JIE AL somm SimBE © 1650 = 75 75 (36 39 )
12 2B & muR #EE @ 151 = 74 77 (40 37)
M FEAEFE wni MCRU— @ 151 = 74 77 ( 40 37)
4 7 =R byl O 152 = 74 78 (37 41)
15 g =8 sk R O 163 = 81 72 (36 36)
ikt 1 RESL BEHR @ 163 = 80 73 ( 36 37 )
FHR RO msn =W @O 163 = 74 79 (41 38)
18 R B EwR GG O 154 = 80 74 ( 36 38)
HE & THR TWIE= @ 154 = 77 77 ( 40 37)
(INNEE I e @ 154 = 77 77 ( 39 38)
Bk FUAS . @ 154 =76 78 (39 39)
22 A Fae o owwm JRE @ 165 = 77 78 (40 38 )
=W e ommR BN @ 166 = 77 78 (138 40)
B IR R e @ 155 =76 79 ( 40 39 )
25 & Mk M A O 156 = 78 78 (39 39 )
R HEE HER Bl @ 156 = 75 81 ( 41 40)
27 fERE DFE wem dgdE @ 167 = 81 76 ( 37 39 )
28 WU S b FHEE  HFE © 159 = 77 82 (41 41)
B oMy TR FEE ©@ 159 = 77 82 (38 44)
30 A #EEE TR TIERME © 160 = 83 77 (39 38)
BRI Bhx 23 HiAkR KF © 160 = 82 78 ( 39 39 )
BH @5 i JTHIKEE O 160 = 81 79 ( 37 42 )
33 M AR mmm JER @ 161 = 81 80 ( 40 40 )
e mEeR AYeFE @ 161 = 80 81 ( 41 40 )
A sER BEFER O 161 = 79 82 ( 40 42 )
36 (LU FlgE s o] @ 162 = 81 81 ( 41 40)
37 frE WLE wmR JEH= @ 163 = 83 80 ( 40 40 )
Mk HixF R fEE D 163 = 80 83 ( 42 41)
HiFE R =R RAFE O 163 = 78 85 (44 41)
40 A Alde Emir Hmk @ 164 = 87 77 (39 38 )
Ko B7E ko pEilE O 164 = 81 83 (42 41 )
42 AR H sl fHiE @O 165 = 84 81 (42 39 )
WP R mmR RIURZE O 165 = 84 81 ( 37 44 )
YN MR BEE © 165 = 80 85 (41 44 )
45 PEH Zsx g mmR FEHAWES O 166 = 87 79 ( 38 41 )
BH o ZeE Fm kM @O 166 = 85 81 ( 41 40 )
Zik FE omeR  yde O 166 = 82 84 ( 42 42 )
ks R dmer B O 166 = 81 85 (43 42 )
Wl EET mE ThE @ 166 = 81 85 ( 43 42 )
KIE B owpm KE= O 166 = 78 88 ( 42 46 )
1/1 BABEEHILTESE ARER



